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1. BAHE L>XGAT PERX-LL X
=/ TA—HRX B —L/BEIA—HA
A=At 1.4
F{& (Wide-Tele) /f1& (mm) 2.5~2.5/f =61.4~105.2
S EERkLE*! 1.98~3.34:1
ROU—HA Z(B) 100-1,000
L>X2 T h*2 B/E +50% ~ -50%V
[4,096x2,160 (EELE 17 : 9) DIFAE] | KF +17% ~ -17%H
L>X2 T h*2 BE +55% ~ -55%V
[3,840%2,160 (HEELL 16 : 9) DIFE] | KF +22% ~ -22%H
TR (BRXES) EBEPSEY T ROAIERSEE
B8 9000g
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2. BuUKH 1 X LInEER BR{&H - X (4096:2160) L4K-20ZM
S A[E] T&[m] =&[m] L (W) [m] L (T) [m]
100 2.2 1.2 4.7 7.7
120 2.7 1.4 5.5 9.2
150 3.4 1.8 6.9 11.4
200 4.5 2.4 9.1 15.2
250 5.6 3.0 11.3 18.9
300 6.7 3.6 13.5 22.6
350 7.9 4.1 15.7 26.4
400 9.0 4.7 17.9 30.1
500 11.2 5.9 22.3 37.5
600 13.5 7.1 26.7 45.0
800 18.0 9.5 35.5 59.9
1,000 22.5 11.8 44.3 74.8

m AeHERE (B : mm)

1263 1 1718
B8 15 106.1 47105
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